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In an effort to locate new venture investment opportunities for its clients, a2 major investment
banking company asked five of its experienced business analysts to review the busincss plans of four
new ventures secking investment capital. Business plans for the four new ventuzes were assigned to
the analysis in random order, with the analysts each being asked to rank the new ventures in order
of performance. Their responses are provided in Table | . Do the data present sufficient
evidence to assume that a difference exists among the preferences of analysts for these four new
business veatures? Test by using « = .03.

TABLE 1 Mew Businest ¥enlure
Analys) ] 2 3 1
A 3 1 4 2
B I 2 4 3
C 2 1 4 3
D 3 1 4 2
E 1 2 3 4
w. o4

Each customer who enters Larry’s clothing stare will pur-
chase a suit with probability g. 1f the number of customers enter-
ing the store is Poisson distributed with mean A, what is the.prob-
ability thac Larry does not sell any suies? '
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Let X, X, ..., X, be a random sample from a
uniform distribution on the interval [0, #], so that

I -
I[I}=‘E O=x=4

0 otherwise

Then if ¥ = max(X,), it can be shTwn that the
random variable & = ¥/# has density funclion
|

ot = {7

Uise f,, () to verify that

p({an}‘-" = %5 - afIJ“") =1l-e

0=py=<1
otherwise

and use this 1o derive a 100(] — )% confi-
. dence interval for §.

59 L Verify that Pla'™ < ¥/§ < 1) = | — a, and
derive a [0H]1 — a}% confidence interval For
f based on this probability statemenit.

”-ﬁ- 3 Which of the two intervals derived above is
shorter? 1f my waiting time for a morning bus
is uniformly distributed and observed waiting
times are x, = 4.2, x, = 35 x, = 1.7, x, =
1.2, and x, = 2.4, derive a 95% confidence
interval for @ by using the shorter of the two
intervals. i
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